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(1) 0.14+0.24+0.3= (2) 0.3+0.4+0.5=

(83) 3.3+2.2—1.1= (4) 1.8+5.6—2.5=

(5) 1.9—-0.6+3.8= 6) 3.1—1.1—-0.4=

(7) 5.8+2.4—-3.7= (8) 7.2—4.54+2.6=

2 ICABHE . BEHNETESZS (1mss)

(1)1?m= m (3)%m= m

@) — W= 2 (4) 0.1 H= 2

(5) %Lz mL (6) 0.03m= cm

€) 10570 6kmEDBHETHE. 1 BETHAKMAMEDET H (4

@ 035mMDUR % BAKSBICE. AMDURY BHREENTTH l4s)

W B R

©#FIZ®ch @ misonya.com



saEt | &R L[ omez  ||(mEm 109

FRE
T fH 2] 50 &=

"0.8X7, 4 5.6, L. HED UMK 8xT7=56, L AU
ROY. TS EoT30ESNALTR

Lauw ~x & o9l

BH X7xBh

O ICABEE . BEDONETEZS (35

(1) 2.1+ ~-3.8 (2) 2.64 —5.5
(3) +1.7=6 (4) +7.7=10.5

(5) 4.5— —2.3 6) 7.1— -3.4

7 ~8.2=1.8 (8) ~8.9=2.2
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(1) 3.6 (2) 2.7 (3) 5.9 (4) 7.7
+ 1.2 + 1.6 + 3.9 + 8.4

(5) 3.9 (6) 4.1 (7) 8.0 (8) 9.3
— 1.7 ~- 2.6 ~ 6.8 — 4.7
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(1) 0.3m= cm (2) 0.8L= dL

(3) 5200m= km (4) 850mL= L

(5) 4050mL= L (6) 0.25dL= mL
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